Unique Auctions Catalogue 05 Apr 2017

- 1 A Bandit stealth off road bike £20.00 £30.00
- 2 A Centurion ladies bicycle £20.00 £30.00
- 3 A ladies bicycle £20.00 £30.00
- 4 A large clamp and 2 other tools £10.00 £20.00
- 5 A 12" desk fan £10.00 £15.00
- 6 A shelf of assorted drinking glasses £10.00 £20.00
- 7 2 boxes of assorted tools £10.00 £20.00
- 8 A box of tools and a planter £10.00 £20.00
- 9 2 boxes of assorted tools £10.00 £20.00
- 10 2 bedroom chairs, 1 a/f and a rug £8.00 £10.00
- 11 A shelf of assorted paintings and prints £20.00 £30.00
- 12 2 shelves of gold decorated table ware and other items £20.00 - £30.00
- 13 A vintage suitcase containing vintage wooden toys £10.00 £20.00
- 14 16 pieces of coloured glass £10.00 £20.00
- 15 A cased Cadal safari shelf cooker £10.00 £15.00
- 16 A quantity of old books £8.00 £10.00
- 17 4 vintage projectors £10.00 £20.00
- 18 A box of soft toys £5.00 £10.00
- 19 3 Capo-di-monte style figures £10.00 £15.00
- 20 2 bread crocks and a pine box £10.00 £20.00
- 21 30 pieces of Grafton dinner ware £10.00 £20.00
- 22 A shelf of assorted glass ware £10.00 £20.00
- 23 A box of unframed paintings £10.00 £20.00
- 24 22 pieces of blue glass ware £15.00 £20.00
- 25 A quantity of camera tripods etc £10.00 £20.00
- 26 A box of pottery and glass, some a/f £5.00 £10.00
- 27 A bag of climbing ropes etc £10.00 £15.00
- 28 A caravan jack £10.00 £15.00
- 29 A teddy bear on chair £5.00 £10.00
- 30 A mixed lot of silver plate, other metal ware and commemorative china £10.00 £20.00
- 31 21 pieces of oriental tea ware £10.00 £20.00
- 32 4 blue and white lidded tureens, a sandwich set and other items £10.00 £20.00
- 33 A mixed lot including adjustable lamps, vintage case, binoculars and Revell U boat model £10.00 £20.00
- 34 2 kitchen chairs £5.00 £10.00
- 35 A mixed lot of teaware £10.00 £20.00
- 36 A quantity of prints £10.00 £20.00
- 37 24 coloured glass spill vases £10.00 £20.00

- 38 4 vintage projectors £10.00 £20.00
- 39 A box of assorted dinner ware £10.00 £20.00
- 40 12 glass vases and 3 glass bowls £10.00 £20.00
- 41 23 pieces of blue and white table ware £10.00 £20.00
- 42 A mixed lot of assorted tins £20.00 £30.00
- 43 4 old chamber pots £10.00 £20.00
- 44 A bedroom chair £5.00 £8.00
- 45 A mixed lot including Sylvac, a/f, Royal Doulton cascade saucers etc £10.00 £20.00
- 46 A jug, a/f, a planter and a figure soap dish £5.00 £10.00
- 47 A mixed lot of Children's annuals and books £20.00 £30.00
- 48 A shelf of assorted tea ware £10.00 £20.00
- 49 A projector and other photographic items £10.00 £20.00
- 50 3 dining chairs £8.00 £10.00
- 51 A mixed lot of stainless steel and pottery items £10.00 £20.00
- 52 Approximately 50 pieces of Royal Doulton Bordeau pattern tea ware £20.00 £30.00
- 53 A mixed lot of handbags and other bags £10.00 £20.00
- 54 18 pieces of coloured glass £10.00 £20.00
- 55 A shelf of books including biography £10.00 £20.00
- 56 A small dolls pram and 4 porcelain dolls £10.00 £20.00
- 57 A projector and other photographic items £10.00 £20.00
- 58 2 old kit bags £8.00 £10.00
- 59 A tall table lamp with globe shade £10.00 £15.00
- 60 20 pieces of blue glass ware £10.00 £20.00
- 61 A shelf of assorted glass ware £10.00 £20.00
- 62 30 pieces of gold decorated tea ware £10.00 £20.00
- 63 A box of collectors plates £10.00 £20.00
- 64 2 wine racks £10.00 £20.00
- 65 A Morphy Richards vacuum cleaner £10.00 £20.00
- 66 A Cooper's vacuum cleaner £10.00 £20.00
- 8 pieces of pottery including Poole £10.00 £20.00
- 68 11 piece of pottery £10.00 £20.00

1

- 69 An Italian porcelain gold and gem decorated coffee set and other gold decorated items £20.00 £30.00
- 70 8 vases and a jug including Aynsley £10.00 £20.00

71	A good quality mahogany wall unit £30.00 - £50.00	111	A Vax vacuum cleaner £10.00 - £20.00
72	An Electrolux vacuum cleaner £10.00 - £20.00	112	A golf trolley, golf bag and clubs £20.00 - £30.00
73	A lead glazed wall cabinet £20.00 - £40.00	113	A teak bureau £10.00 - £20.00
74 75	An astragal glazed bookcase top £30.00 - £50.00	114	A Bluesky BSEW 8360 sewing machine £10.00 - £20.00
75	33 pieces of floral patterned tea ware £10.00 - £20.00	115	2 boxes of soft toys £10.00 - £15.00
76	A Panasonic vacuum cleaner £10.00 - £20.00	116	A vintage Jones sewing machine £10.00 - £20.00
77	A glass topped bedside chest £8.00 - £10.00	117	2 boxes of Christmas decorations £10.00 - £20.00
78	A mahogany wall unit £20.00 - £30.00	118	A Flymo lawn mower £10.00 - £20.00
79	13 various figures £20.00 - £30.00	119	A Bosch lawn mower £10.00 - £20.00
80	A quantity of oriental blue and white china etc £10.00 - £20.00	120	A mixed lot of photographic items £10.00 - £20.00
04		121	A quantity of duvet's and pillows £10.00 - £20.00
81	23 pieces of glass ware £10.00 - £20.00	122	A dehumidifier with castors and liner £20.00 - £0.00
82	An Electrolux vacuume cleaner, a flash floor mop and one other item £10.00 - £20.00	123	A mixed lot of woodworking tools £20.00 - £30.00
83	A 5 drawer chest £10.00 - £20.00	124	A teak deck chair £10.00 - £20.00
84	A child's cot £10.00 - £20.00	125	A leaf mulcher £10.00 - £20.00
85	2 aircraft pictures £5.00 - £10.00	126	A Henry vacuum cleaner £10.00 - £20.00
86	A wool carpet runner £10.00 - £20.00	127	A Calor gas heater with bottle £20.00 - £30.00
87	5 oil paintings and a watercolour £10.00 - £20.00	128	A Tricity Bendix automatic washing machine £20.00 - £30.00
88	23 pieces of assorted glass ware £10.00 - £20.00	129	A linen bin and airers etc £8.00 - £10.00
89	13 items of Sylvac including jugs and vases £10.00 - £20.00	130	A Calor gas heater with bottle £20.00 - £30.00
90	A mahogany occasional table £10.00 - £20.00	131	A Candy automatic washing machine £20.00 - £30.00
91	8 carnival glass bowls £10.00 - £20.00	132	
91 92	8 carnival glass bowls £10.00 - £20.00 A mixed lot of tea and dinner ware £10.00 - £20.00	132 133	A set of glass shelves £10.00 - £20.00
	· ·	132 133	
92	A mixed lot of tea and dinner ware £10.00 - £20.00		A set of glass shelves £10.00 - £20.00 A Hotpoint automatic washing machine £20.00 - £30.00
92 93	A mixed lot of tea and dinner ware £10.00 - £20.00 4 framed and glazed prints £10.00 - £20.00	133	A set of glass shelves £10.00 - £20.00 A Hotpoint automatic washing machine £20.00 -
92 93 94	A mixed lot of tea and dinner ware £10.00 - £20.00 4 framed and glazed prints £10.00 - £20.00 4 vintage projectors £10.00 - £20.00 4 paintings £10.00 - £20.00 A Silver Jubilee fleet review programme and 2	133 134 135	A set of glass shelves £10.00 - £20.00 A Hotpoint automatic washing machine £20.00 - £30.00 A sailing boat £80.00 - £120.00 A 3 piece conservatory suite and matching nest of tables £20.00 - £30.00
92 93 94 95 96	A mixed lot of tea and dinner ware £10.00 - £20.00 4 framed and glazed prints £10.00 - £20.00 4 vintage projectors £10.00 - £20.00 4 paintings £10.00 - £20.00 A Silver Jubilee fleet review programme and 2 bottles of ale £10.00 - £20.00	133 134 135 136	A set of glass shelves £10.00 - £20.00 A Hotpoint automatic washing machine £20.00 - £30.00 A sailing boat £80.00 - £120.00 A 3 piece conservatory suite and matching nest of tables £20.00 - £30.00 A cane sofa, chair and table £20.00 - £30.00
92 93 94 95	A mixed lot of tea and dinner ware £10.00 - £20.00 4 framed and glazed prints £10.00 - £20.00 4 vintage projectors £10.00 - £20.00 4 paintings £10.00 - £20.00 A Silver Jubilee fleet review programme and 2 bottles of ale £10.00 - £20.00 A large crib board and an oriental collage £10.00 -	133 134 135 136 137	A set of glass shelves £10.00 - £20.00 A Hotpoint automatic washing machine £20.00 - £30.00 A sailing boat £80.00 - £120.00 A 3 piece conservatory suite and matching nest of tables £20.00 - £30.00 A cane sofa, chair and table £20.00 - £30.00 4 vintage projectors £10.00 - £20.00
92 93 94 95 96	A mixed lot of tea and dinner ware £10.00 - £20.00 4 framed and glazed prints £10.00 - £20.00 4 vintage projectors £10.00 - £20.00 4 paintings £10.00 - £20.00 A Silver Jubilee fleet review programme and 2 bottles of ale £10.00 - £20.00 A large crib board and an oriental collage £10.00 - £20.00	133 134 135 136 137 138	A set of glass shelves £10.00 - £20.00 A Hotpoint automatic washing machine £20.00 - £30.00 A sailing boat £80.00 - £120.00 A 3 piece conservatory suite and matching nest of tables £20.00 - £30.00 A cane sofa, chair and table £20.00 - £30.00 4 vintage projectors £10.00 - £20.00 A metal and wood garden bench £20.00 - £30.00
92 93 94 95 96 97	A mixed lot of tea and dinner ware £10.00 - £20.00 4 framed and glazed prints £10.00 - £20.00 4 vintage projectors £10.00 - £20.00 4 paintings £10.00 - £20.00 A Silver Jubilee fleet review programme and 2 bottles of ale £10.00 - £20.00 A large crib board and an oriental collage £10.00 - £20.00 32 pieces of Colclough tea ware £15.00 - £20.00	133 134 135 136 137 138 139	A set of glass shelves £10.00 - £20.00 A Hotpoint automatic washing machine £20.00 - £30.00 A sailing boat £80.00 - £120.00 A 3 piece conservatory suite and matching nest of tables £20.00 - £30.00 A cane sofa, chair and table £20.00 - £30.00 4 vintage projectors £10.00 - £20.00 A metal and wood garden bench £20.00 - £30.00 2 flat pack pine bookcases £10.00 - £20.00
92 93 94 95 96 97 98	A mixed lot of tea and dinner ware £10.00 - £20.00 4 framed and glazed prints £10.00 - £20.00 4 vintage projectors £10.00 - £20.00 4 paintings £10.00 - £20.00 A Silver Jubilee fleet review programme and 2 bottles of ale £10.00 - £20.00 A large crib board and an oriental collage £10.00 - £20.00 32 pieces of Colclough tea ware £15.00 - £20.00 A framed and glazed print £10.00 - £20.00	133 134 135 136 137 138 139 140	A set of glass shelves £10.00 - £20.00 A Hotpoint automatic washing machine £20.00 - £30.00 A sailing boat £80.00 - £120.00 A 3 piece conservatory suite and matching nest of tables £20.00 - £30.00 A cane sofa, chair and table £20.00 - £30.00 4 vintage projectors £10.00 - £20.00 A metal and wood garden bench £20.00 - £30.00 2 flat pack pine bookcases £10.00 - £20.00 A wooden garden table £20.00 - £30.00
92 93 94 95 96 97 98 99	A mixed lot of tea and dinner ware £10.00 - £20.00 4 framed and glazed prints £10.00 - £20.00 4 vintage projectors £10.00 - £20.00 4 paintings £10.00 - £20.00 A Silver Jubilee fleet review programme and 2 bottles of ale £10.00 - £20.00 A large crib board and an oriental collage £10.00 - £20.00 32 pieces of Colclough tea ware £15.00 - £20.00 A framed and glazed print £10.00 - £20.00 9 pieces of floral decorated glass £10.00 - £20.00	133 134 135 136 137 138 139	A set of glass shelves £10.00 - £20.00 A Hotpoint automatic washing machine £20.00 - £30.00 A sailing boat £80.00 - £120.00 A 3 piece conservatory suite and matching nest of tables £20.00 - £30.00 A cane sofa, chair and table £20.00 - £30.00 4 vintage projectors £10.00 - £20.00 A metal and wood garden bench £20.00 - £30.00 2 flat pack pine bookcases £10.00 - £20.00
92 93 94 95 96 97 98	A mixed lot of tea and dinner ware £10.00 - £20.00 4 framed and glazed prints £10.00 - £20.00 4 vintage projectors £10.00 - £20.00 4 paintings £10.00 - £20.00 A Silver Jubilee fleet review programme and 2 bottles of ale £10.00 - £20.00 A large crib board and an oriental collage £10.00 - £20.00 32 pieces of Colclough tea ware £15.00 - £20.00 A framed and glazed print £10.00 - £20.00	133 134 135 136 137 138 139 140	A set of glass shelves £10.00 - £20.00 A Hotpoint automatic washing machine £20.00 - £30.00 A sailing boat £80.00 - £120.00 A 3 piece conservatory suite and matching nest of tables £20.00 - £30.00 A cane sofa, chair and table £20.00 - £30.00 4 vintage projectors £10.00 - £20.00 A metal and wood garden bench £20.00 - £30.00 2 flat pack pine bookcases £10.00 - £20.00 A wooden garden table £20.00 - £30.00
92 93 94 95 96 97 98 99	A mixed lot of tea and dinner ware £10.00 - £20.00 4 framed and glazed prints £10.00 - £20.00 4 vintage projectors £10.00 - £20.00 4 paintings £10.00 - £20.00 A Silver Jubilee fleet review programme and 2 bottles of ale £10.00 - £20.00 A large crib board and an oriental collage £10.00 - £20.00 32 pieces of Colclough tea ware £15.00 - £20.00 A framed and glazed print £10.00 - £20.00 9 pieces of floral decorated glass £10.00 - £20.00 A quantity of portrait paintings and prints £10.00 -	133 134 135 136 137 138 139 140 141	A set of glass shelves £10.00 - £20.00 A Hotpoint automatic washing machine £20.00 - £30.00 A sailing boat £80.00 - £120.00 A 3 piece conservatory suite and matching nest of tables £20.00 - £30.00 A cane sofa, chair and table £20.00 - £30.00 4 vintage projectors £10.00 - £20.00 A metal and wood garden bench £20.00 - £30.00 2 flat pack pine bookcases £10.00 - £20.00 A wooden garden table £20.00 - £30.00 A large quantity of garden planters £10.00 - £20.00 A portable typewriter by Oliver Reed £10.00 -
92 93 94 95 96 97 98 99 100 101	A mixed lot of tea and dinner ware £10.00 - £20.00 4 framed and glazed prints £10.00 - £20.00 4 vintage projectors £10.00 - £20.00 4 paintings £10.00 - £20.00 A Silver Jubilee fleet review programme and 2 bottles of ale £10.00 - £20.00 A large crib board and an oriental collage £10.00 - £20.00 32 pieces of Colclough tea ware £15.00 - £20.00 A framed and glazed print £10.00 - £20.00 9 pieces of floral decorated glass £10.00 - £20.00 A quantity of portrait paintings and prints £10.00 - £20.00	133 134 135 136 137 138 139 140 141 142	A set of glass shelves £10.00 - £20.00 A Hotpoint automatic washing machine £20.00 - £30.00 A sailing boat £80.00 - £120.00 A 3 piece conservatory suite and matching nest of tables £20.00 - £30.00 A cane sofa, chair and table £20.00 - £30.00 4 vintage projectors £10.00 - £20.00 A metal and wood garden bench £20.00 - £30.00 2 flat pack pine bookcases £10.00 - £20.00 A wooden garden table £20.00 - £30.00 A large quantity of garden planters £10.00 - £20.00 A portable typewriter by Oliver Reed £10.00 - £20.00
92 93 94 95 96 97 98 99 100 101	A mixed lot of tea and dinner ware £10.00 - £20.00 4 framed and glazed prints £10.00 - £20.00 4 vintage projectors £10.00 - £20.00 4 paintings £10.00 - £20.00 A Silver Jubilee fleet review programme and 2 bottles of ale £10.00 - £20.00 A large crib board and an oriental collage £10.00 - £20.00 32 pieces of Colclough tea ware £15.00 - £20.00 A framed and glazed print £10.00 - £20.00 9 pieces of floral decorated glass £10.00 - £20.00 A quantity of portrait paintings and prints £10.00 - £20.00 3 framed and glazed prints £10.00 - £20.00	133 134 135 136 137 138 139 140 141 142	A set of glass shelves £10.00 - £20.00 A Hotpoint automatic washing machine £20.00 - £30.00 A sailing boat £80.00 - £120.00 A 3 piece conservatory suite and matching nest of tables £20.00 - £30.00 A cane sofa, chair and table £20.00 - £30.00 4 vintage projectors £10.00 - £20.00 A metal and wood garden bench £20.00 - £30.00 2 flat pack pine bookcases £10.00 - £20.00 A wooden garden table £20.00 - £30.00 A large quantity of garden planters £10.00 - £20.00 A portable typewriter by Oliver Reed £10.00 - £20.00 A quantity of folding camping chairs £10.00 - £20.00 A new and boxed marble fire surrouns £40.00 -
92 93 94 95 96 97 98 99 100 101	A mixed lot of tea and dinner ware £10.00 - £20.00 4 framed and glazed prints £10.00 - £20.00 4 vintage projectors £10.00 - £20.00 4 paintings £10.00 - £20.00 A Silver Jubilee fleet review programme and 2 bottles of ale £10.00 - £20.00 A large crib board and an oriental collage £10.00 - £20.00 32 pieces of Colclough tea ware £15.00 - £20.00 A framed and glazed print £10.00 - £20.00 9 pieces of floral decorated glass £10.00 - £20.00 A quantity of portrait paintings and prints £10.00 - £20.00 3 framed and glazed prints £10.00 - £20.00 A set of scales and weights £10.00 - £20.00	133 134 135 136 137 138 139 140 141 142 143	A set of glass shelves £10.00 - £20.00 A Hotpoint automatic washing machine £20.00 - £30.00 A sailing boat £80.00 - £120.00 A 3 piece conservatory suite and matching nest of tables £20.00 - £30.00 A cane sofa, chair and table £20.00 - £30.00 4 vintage projectors £10.00 - £20.00 A metal and wood garden bench £20.00 - £30.00 2 flat pack pine bookcases £10.00 - £20.00 A wooden garden table £20.00 - £30.00 A large quantity of garden planters £10.00 - £20.00 A portable typewriter by Oliver Reed £10.00 - £20.00 A quantity of folding camping chairs £10.00 - £20.00 A new and boxed marble fire surrouns £40.00 - £60.00
92 93 94 95 96 97 98 99 100 101 102 103 104	A mixed lot of tea and dinner ware £10.00 - £20.00 4 framed and glazed prints £10.00 - £20.00 4 vintage projectors £10.00 - £20.00 4 paintings £10.00 - £20.00 A Silver Jubilee fleet review programme and 2 bottles of ale £10.00 - £20.00 A large crib board and an oriental collage £10.00 - £20.00 32 pieces of Colclough tea ware £15.00 - £20.00 A framed and glazed print £10.00 - £20.00 9 pieces of floral decorated glass £10.00 - £20.00 A quantity of portrait paintings and prints £10.00 - £20.00 3 framed and glazed prints £10.00 - £20.00 A set of scales and weights £10.00 - £20.00 2 oil paintings on board £10.00 - £20.00 11 pieces of oriental blue and white porcelain	133 134 135 136 137 138 139 140 141 142 143 144	A set of glass shelves £10.00 - £20.00 A Hotpoint automatic washing machine £20.00 - £30.00 A sailing boat £80.00 - £120.00 A 3 piece conservatory suite and matching nest of tables £20.00 - £30.00 A cane sofa, chair and table £20.00 - £30.00 4 vintage projectors £10.00 - £20.00 A metal and wood garden bench £20.00 - £30.00 2 flat pack pine bookcases £10.00 - £20.00 A wooden garden table £20.00 - £30.00 A large quantity of garden planters £10.00 - £20.00 A portable typewriter by Oliver Reed £10.00 - £20.00 A quantity of folding camping chairs £10.00 - £20.00 A new and boxed marble fire surrouns £40.00 - £60.00 A vintage suitcase £10.00 - £20.00
92 93 94 95 96 97 98 99 100 101 102 103 104 105 106	A mixed lot of tea and dinner ware £10.00 - £20.00 4 framed and glazed prints £10.00 - £20.00 4 vintage projectors £10.00 - £20.00 4 paintings £10.00 - £20.00 A Silver Jubilee fleet review programme and 2 bottles of ale £10.00 - £20.00 A large crib board and an oriental collage £10.00 - £20.00 32 pieces of Colclough tea ware £15.00 - £20.00 A framed and glazed print £10.00 - £20.00 9 pieces of floral decorated glass £10.00 - £20.00 A quantity of portrait paintings and prints £10.00 - £20.00 3 framed and glazed prints £10.00 - £20.00 2 oil paintings on board £10.00 - £20.00 2 pieces of 1970's tea ware £10.00 - £20.00 11 pieces of oriental blue and white porcelain £10.00 - £20.00	133 134 135 136 137 138 139 140 141 142 143	A set of glass shelves £10.00 - £20.00 A Hotpoint automatic washing machine £20.00 - £30.00 A sailing boat £80.00 - £120.00 A 3 piece conservatory suite and matching nest of tables £20.00 - £30.00 A cane sofa, chair and table £20.00 - £30.00 4 vintage projectors £10.00 - £20.00 A metal and wood garden bench £20.00 - £30.00 2 flat pack pine bookcases £10.00 - £20.00 A wooden garden table £20.00 - £30.00 A large quantity of garden planters £10.00 - £20.00 A portable typewriter by Oliver Reed £10.00 - £20.00 A quantity of folding camping chairs £10.00 - £20.00 A new and boxed marble fire surrouns £40.00 - £60.00
92 93 94 95 96 97 98 99 100 101 102 103 104 105 106	A mixed lot of tea and dinner ware £10.00 - £20.00 4 framed and glazed prints £10.00 - £20.00 4 vintage projectors £10.00 - £20.00 4 paintings £10.00 - £20.00 A Silver Jubilee fleet review programme and 2 bottles of ale £10.00 - £20.00 A large crib board and an oriental collage £10.00 - £20.00 32 pieces of Colclough tea ware £15.00 - £20.00 A framed and glazed print £10.00 - £20.00 9 pieces of floral decorated glass £10.00 - £20.00 A quantity of portrait paintings and prints £10.00 - £20.00 3 framed and glazed prints £10.00 - £20.00 A set of scales and weights £10.00 - £20.00 2 oil paintings on board £10.00 - £20.00 11 pieces of oriental blue and white porcelain £10.00 - £20.00 A Nechi sewing machine £10.00 - £20.00	133 134 135 136 137 138 139 140 141 142 143 144	A set of glass shelves £10.00 - £20.00 A Hotpoint automatic washing machine £20.00 - £30.00 A sailing boat £80.00 - £120.00 A 3 piece conservatory suite and matching nest of tables £20.00 - £30.00 A cane sofa, chair and table £20.00 - £30.00 4 vintage projectors £10.00 - £20.00 A metal and wood garden bench £20.00 - £30.00 2 flat pack pine bookcases £10.00 - £20.00 A wooden garden table £20.00 - £30.00 A large quantity of garden planters £10.00 - £20.00 A portable typewriter by Oliver Reed £10.00 - £20.00 A quantity of folding camping chairs £10.00 - £20.00 A new and boxed marble fire surrouns £40.00 - £60.00 A vintage suitcase £10.00 - £20.00 A tall pottery vase and a coloured glass vase £10.00 - £20.00 A mixed lot of brass and copper including
92 93 94 95 96 97 98 99 100 101 102 103 104 105 106 107 108	A mixed lot of tea and dinner ware £10.00 - £20.00 4 framed and glazed prints £10.00 - £20.00 4 vintage projectors £10.00 - £20.00 4 paintings £10.00 - £20.00 A Silver Jubilee fleet review programme and 2 bottles of ale £10.00 - £20.00 A large crib board and an oriental collage £10.00 - £20.00 32 pieces of Colclough tea ware £15.00 - £20.00 A framed and glazed print £10.00 - £20.00 9 pieces of floral decorated glass £10.00 - £20.00 A quantity of portrait paintings and prints £10.00 - £20.00 3 framed and glazed prints £10.00 - £20.00 A set of scales and weights £10.00 - £20.00 2 oil paintings on board £10.00 - £20.00 11 pieces of oriental blue and white porcelain £10.00 - £20.00 A Nechi sewing machine £10.00 - £20.00 A pair of Victorian prints £10.00 - £20.00	133 134 135 136 137 138 139 140 141 142 143 144 145 146	A set of glass shelves £10.00 - £20.00 A Hotpoint automatic washing machine £20.00 - £30.00 A sailing boat £80.00 - £120.00 A 3 piece conservatory suite and matching nest of tables £20.00 - £30.00 A cane sofa, chair and table £20.00 - £30.00 4 vintage projectors £10.00 - £20.00 A metal and wood garden bench £20.00 - £30.00 2 flat pack pine bookcases £10.00 - £20.00 A wooden garden table £20.00 - £30.00 A large quantity of garden planters £10.00 - £20.00 A portable typewriter by Oliver Reed £10.00 - £20.00 A quantity of folding camping chairs £10.00 - £20.00 A new and boxed marble fire surrouns £40.00 - £60.00 A vintage suitcase £10.00 - £20.00 A tall pottery vase and a coloured glass vase £10.00 - £20.00
92 93 94 95 96 97 98 99 100 101 102 103 104 105 106	A mixed lot of tea and dinner ware £10.00 - £20.00 4 framed and glazed prints £10.00 - £20.00 4 vintage projectors £10.00 - £20.00 4 paintings £10.00 - £20.00 A Silver Jubilee fleet review programme and 2 bottles of ale £10.00 - £20.00 A large crib board and an oriental collage £10.00 - £20.00 32 pieces of Colclough tea ware £15.00 - £20.00 A framed and glazed print £10.00 - £20.00 9 pieces of floral decorated glass £10.00 - £20.00 A quantity of portrait paintings and prints £10.00 - £20.00 3 framed and glazed prints £10.00 - £20.00 A set of scales and weights £10.00 - £20.00 2 oil paintings on board £10.00 - £20.00 11 pieces of oriental blue and white porcelain £10.00 - £20.00 A Nechi sewing machine £10.00 - £20.00	133 134 135 136 137 138 139 140 141 142 143 144 145 146	A set of glass shelves £10.00 - £20.00 A Hotpoint automatic washing machine £20.00 - £30.00 A sailing boat £80.00 - £120.00 A 3 piece conservatory suite and matching nest of tables £20.00 - £30.00 A cane sofa, chair and table £20.00 - £30.00 4 vintage projectors £10.00 - £20.00 A metal and wood garden bench £20.00 - £30.00 2 flat pack pine bookcases £10.00 - £20.00 A wooden garden table £20.00 - £30.00 A large quantity of garden planters £10.00 - £20.00 A portable typewriter by Oliver Reed £10.00 - £20.00 A quantity of folding camping chairs £10.00 - £20.00 A new and boxed marble fire surrouns £40.00 - £60.00 A vintage suitcase £10.00 - £20.00 A tall pottery vase and a coloured glass vase £10.00 - £20.00 A mixed lot of brass and copper including

150	Approximately 60 pieces of Johnson Bros		table lamp £20.00 - £30.00
	tableware with matching glasses, tablemats etc £30.00 - £50.00	183	A mixed lot of DVD's £10.00 - £20.00
151	A box of football programmes including Lincoln, 2 x 1962, rest 1967-72, selection of home and away	184	A mixed lot of diecast including Lledo, Atlas Editions Battleships, Corgi etc £20.00 - £30.00
152	An Olympia portable typewriter £10.00 - £20.00	185	A quantity of CD's £10.00 - £20.00
153	5 boxed fairy figures, 1 a/f £20.00 - £30.00	186	A mixed lot including wrist watches, military
154	2 shelves of pictures and cushions £10.00 - £20.00	407	compass, star wars figure etc £10.00 - £20.00
155	A Singer treadle sewing machine £20.00 - £30.00	187	A quantity of crested china £10.00 - £20.00
156	4 framed and glazed botanical prints £20.00 -	188	A boxed Stanley Compendium plane £10.00 - £20.00
	£30.00	189	A boxed Stanley 4.5" plane £10.00 - £20.00
157	A framed and glazed watercolour and a limited edition print £10.00 - £20.00	190	A mixed lot of carnival glass etc £10.00 - £20.00
158	A Singer treadle sewing machine	191	A mixed lot of brass ware etc £10.00 - £20.00
159	A Singer treadle sewing machine £20.00 - £30.00	192	A mixed lot of coloured glass £10.00 - £20.00
160	A shield shaped mirror £10.00 - £20.00	193	A hand made wooden stage coach £10.00 - £20.00
161	A Frister and Rossman (German) treadle sewing	194	A large Triang tin plate lorry body £20.00 - £30.00
	machine, circa 1938 £20.00 - £30.00	195	14 boxed Atlas editions die cast classic sports car models and a Tonka Polistil MGA £20.00 -
162	A Singer electric conversion sewing machine		£30.00
163	A framed and glazed picture of a harvest scene signed John Dash? £10.00 - £20.00	196	A part Royal Albert tea set, Wedgwood cups and saucers and others £10.00 - £20.00
164	A pair of oval gilt framed and glazed floral prints	197	A mixed lot of cutlery £10.00 - £20.00
405	£20.00 - £30.00	198	A Sesame Street Big Bird costume £10.00 -
165	A mixed lot of Indian brassware, other brassware and crystal glass £10.00 - £20.00	199	£20.00 8 jugs including Burslem, Beswick etc £10.00 -
166	A white 5 drawer chest £20.00 - £30.00	199	£20.00
167	3 advertising prints on canvas, Marilyn Monroe, Audrey Hepburn and New York £20.00 - £30.00	200	A shelf of books including Clive Cussler £10.00 - £20.00
168	A small mahogany inlaid mantel clock £10.00 - £20.00	201	12 boxed Atlas editions classic motorbikes and one other £20.00 - £30.00
169	In excess of 300 CD's of various music genres on	202	A mixed lot of silver plate £10.00 - £20.00
	4 shelves £30.00 - £40.00	203	A mixed lot of unboxed die cast including
170	A mahogany book case £20.00 - £30.00		Yesteryear, Lledo etc £10.00 - £20.00
171	A mahogany dressing table £20.00 - £30.00	204	A box of camera's £10.00 - £20.00
172	An oriental pattern jug and basin set £10.00 - £20.00	205	A mixed lot of wooden items, some a/f £10.00 - £20.00
173	A box of camera's £10.00 - £20.00	206	2 shelves of teddy bear ornaments etc £10.00 -
174	A mixed lot of silver plate including tea set £10.00 - £20.00	207	£20.00 A quantity of good crystal glass bowls £10.00 -
175	6 glass bowls, a basket and a decanter £10.00 - £20.00	208	£20.00 A picnic set £10.00 - £20.00
176	10 lawn bowls £10.00 - £20.00	209	A mixed lot of glass ware £10.00 - £20.00
177	A pair of speakers and other items £10.00 - £20.00	210	Approximately 28 pieces of Alfred Meakin dinner
178	A mixed lot of wooden items £10.00 - £20.00	210	ware £10.00 - £20.00
179	A mixed lot including jewellery boxes, handbags, photo frames etc £10.00 - £20.00	211	A mixed lot of green and blue Wedgwood £10.00 - £20.00
180	A quantity of TV and film DVD's including	212	A pair of brass candlesticks, a toast rack and a
	Thunderbirds, House of Elliot, Foyle's war etc £10.00 - £20.00		tureen £10.00 - £20.00
181	A shelf of Christmas decorations £10.00 - £20.00	213	A box of beer mats, Guinness, Heineken etc £10.00 - £20.00
182	A 1970's Womble table lamp and a retro plastic	214	A brass gimbal oil lamp £15.00 - £20.00
102	7. 10703 Wombie table lamp and a letto plastic	∠ ı †	7. 51433 gillibal oli lallip 2.13.00 - 220.00

215	3 teapots and a Wedgwood sugar bowl and milk	246	8 glass bowls £10.00 - £20.00
216	jug £10.00 - £20.00	247	A quantity of boxed Corgi Classics and Models of
216	A cat biscuit barrel, 2 wooden cats, a large pottery cat and an owl £10.00 - £20.00	248	Yesteryear £20.00 - £30.00 A boxed Rio body pro 12 tuning kit £10.00 - £20.00
217	A quantity of assorted 35mm lenses £20.00 -	249	A small chandelier £20.00 - £30.00
	£30.00	250	7 glass decanters £10.00 - £20.00
218	A backgammon set, Monopoly and Scrabble £10.00 - £20.00	251	A jewellery stand figure and 5 other figures £10.00 - £20.00
219	A quantity of blue and white pottery including Chinese £10.00 - £20.00	252	A quantity of character jugs £20.00 - £30.00
220	A quantity of engineering tools £10.00 - £20.00	253	A set of Harper scales with weights £10.00 -
221	A quantity of decanters and a biscuit barrel £10.00 - £20.00	254	£20.00 24 boxed Atlas editions Best of British police cars
222	2 framed and glazed woven cash's picture £10.00 -	255	and one other £20.00 - £30.00 A teasmade £10.00 - £20.00
	£20.00	255 256	
223	A vintage illuminated 'Sorry No Vacancies' hotel B & B sign £40.00 - £60.00	256 257	A large quantity of cutlery £10.00 - £20.00 A mixed lot of horse bits, brass etc £10.00 -
224	A tribal art male and female carved wooden heads	201	£20.00
	(female repaired) £10.00 - £20.00	258	A Lincolnshire Standard Trophy £10.00 - £20.00
225	6 Royal Doulton soup bowls £10.00 - £20.00	259	An oak hall chair £20.00 - £30.00
226	2 framed and glazed collages £10.00 - £20.00	260	A studio pottery coffee set £10.00 - £20.00
227	A mixed lot of cased and boxed cutlery £10.00 - £20.00	261	A Compare the Meercat 'Yakov's Toy Shop' meercat £20.00 - £30.00
228	A quantity of camera's £10.00 - £20.00	262	A bag of costume jewellery £10.00 - £20.00
229	A quantity of aircraft magazines etc £10.00 - £20.00	263	19 boxed Atlas editions Eddie Stobart lorries, 2 others and 4 collector's plates £20.00 - £30.00
230	A 1930's coffee set £10.00 - £20.00	264	2 air beds etc £10.00 - £20.00
231	An anniversary clock £10.00 - £20.00	265	A box of horse tack £10.00 - £20.00
232	A mixed lot of glass ware including punch bowl	266	6 continental bisque figures £20.00 - £30.00
233	£10.00 - £20.00	267	A pine 2 drawer bedside chest £10.00 - £20.00
233	6 Collector's plates and a Japanese tea set £10.00 - £20.00	268	6 glass oil lamp shades £10.00 - £20.00
234	A mixed lot including Royal Albert £10.00 - £20.00	269	A box of camera's £10.00 - £20.00
235	A quantity of die cast model cars and lego £10.00 -	270	A mixed lot of paperweights etc £10.00 - £20.00
	£20.00	271	A mahogany effect hall table £10.00 - £20.00
236	A wooden salad bowl, wooden biscuit barrel, carved wood cobra etc £10.00 - £20.00	272	A quantity of boxed die cast mainly Lledo but including Matchbox £20.00 - £30.00
237	11 pieces of crested china £10.00 - £20.00	273	A brass electrolier £20.00 - £30.00
238	A mixed lot of Irish pottery £10.00 - £20.00	274	2 sets of coin scales £20.00 - £30.00
239	6 Minton Wilmington plates £10.00 - £20.00	275	A Hornby high speed train set etc £20.00 - £30.00
240	7 animal figures £10.00 - £20.00	276	A Victorian Duplex oil lamp with ornate brass base £30.00 - £40.00
241	4 items of stoneware, some a/f £10.00 - £20.00	277	6 glass paperweights £10.00 - £20.00
242	A box of mixed items including door knobs £10.00 - £20.00	278	A pair of painted bedside cabinets £20.00 - £30.00
243	A box of sewing machine accessories £10.00 - £20.00	279	A bag of costume jewellery £10.00 - £20.00
		280	A box of coloured glassware £10.00 - £20.00
244	28 boxed Atlas editions Great British buses and	281	A box of pictures £10.00 - £20.00
	one other £20.00 - £30.00	282	A box of 35mm flashes and flash guns £10.00 -
245	A large quantity of film and TV DVD's including		£20.00
	Doctor Who, All Creatures Great and Small etc £20.00 - £30.00	283	A mixed lot of brass and copper ware including candlesticks £10.00 - £20.00

284	19 pieces of Royal Doulton tea ware £20.00 - £30.00	316	A quantity of scale weights £10.00 - £20.00
285	A bamboo stool £8.00 - £10.00	317	A Carlton ware mushroom cruet set, 1 piece a/f £10.00 - £20.00
286	A quantity of opera glasses and binoculars £10.00 - £20.00	318	A French marble mantle clock surmounted a pair of figures £80.00 - £120.00
287	2 dog doorstops etc £8.00 - £10.00	319	An Ingersol pocket watch and a Kienzle pocket
288	2 Pentax camera's £20.00 - £30.00		watch £25.00 - £35.00
289	A mixed lot of pottery including Carlton ware, Poole, Finnish etc £10.00 - £20.00	320	An 1895 silver crown and other old coins £10.00 - £20.00
290	A wrought iron stand £10.00 - £20.00	321	5 vintage penknives £10.00 - £20.00
291	4 boxes of 35mm camera's etc £20.00 - £30.00	322	A pocket watch on chain £10.00 - £20.00
292	A pair of 19th century Staffordshire spaniels, in good condition £25.00 - £35.00	323	A Sekonda wrist watch and a Lorus wrist watch £15.00 - £20.00
293	A pair of brass candlesticks £10.00 - £20.00	324	A quantity of white and yellow metal chains £10.00 - £20.00
294	An oriental carved wood scoop £20.00 - £30.00	325	A mixed lot of costume jewellery £10.00 - £20.00
295	A pair of bisque figure spill vases and a sailor	326	• •
	figure £10.00 - £20.00	320	A mixed lot including brooches, necklaces etc £10.00 - £20.00
296	A Praktica camera, a Petri camera and a lens £10.00 - £20.00	327	A mixed lot of silver and gold jewellery £10.00 - £20.00
297	A collection of die cast including Dinky, Crescent etc £10.00 - £20.00	328	A mixed lot of costume jewellery, 2 ladies watches etc £10.00 - £20.00
298	A collection of Wade whimsies £10.00 - £15.00	329	3 lockets, 2 rings and a necklace of silver and gold
299	A Limoge powder bowl and a German pot £10.00 - £20.00	330	£30.00 - £40.00 4 pocket watches including a war watch £20.00 -
300	A vintage rosewood and ivory 'The Camden' whist marker £10.00 - £20.00		£30.00
301	5 glass paperweights £10.00 - £20.00	331	An album of coins £10.00 - £20.00
302	A Copeland vase and a hand painted Chelsea ware rose bowl £10.00 - £20.00	332	A mixed lot including cigarette lighters, cigarette cases and a pair of grape scissors £20.00 - £30.00
303	Approximately 33 Masonic patches £10.00 -	333	A mixed lot of costume jewellery £10.00 - £20.00
304	£20.00	334	A mixed lot including lighters, wrist watches etc £10.00 - £20.00
305	A quantity of military patches etc £10.00 - £20.00 A brass and glass anniversary clock £10.00 -	335	A mixed lot of costume jewellery £15.00 - £20.00
303	£20.00	336	A mixed lot of costume jewellery £10.00 - £20.00
306	A glass eagle pot £10.00 - £20.00	337	A mixed lot of costume jewellery including 7 silver
307	A Kodak box camera and a Lobital camera £10.00 - £20.00	338	rings £10.00 - £20.00 A tin of UK and foreign coins including
308	A carved wood owl inkwell with pen, missing liner £20.00 - £30.00		commemorative crowns, £5 coins etc £10.00 - £20.00
309	2 Royal Doulton character jugs and a Sylvac example £10.00 - £20.00	339	A box of miscellaneous items including money box £10.00 - £20.00
310	A Canon digital camera and 2 lenses £20.00 - £30.00	340	A collection of 18th and 19th century etchings £40.00 - £60.00
311	A collection of doll house miniatures £10.00 -	341	A small suitcase of costume jewellery £10.00 - £20.00
242	£20.00	342	A pair of floor standing basket vases £10.00 -
312	An inkwell and a pen holder £10.00 - £20.00		£20.00
313	A small believe jug £15.00 - £20.00	343	A nest of 3 glass topped tables £20.00 - £30.00
314	A brass inkwell in the form of a cabbage leaf £20.00 - £30.00	344	A quantity of boxed Lledo die cast models £20.00 - £30.00
315	A small box and 2 items of crested china £8.00 - £10.00	345	A collection of Richmond blue poppy china £10.00 - £20.00

346	A large quantity of photographic items including cine cameras £20.00 - £30.00	379 380	A golfing collage £10.00 - £20.00 2 glass trays £10.00 - £15.00
347	A console, games, playstation, omega magazines £10.00 - £20.00	381	A Victorian console table £10.00 - £20.00
348	A cased vintage LADA sewing machine £10.00 - £20.00	382	A limited edition Meercat movies batman toy with papers £15.00 - £20.00
349	A quantity of marbles £10.00 - £20.00	383	3 large modern white ceiling lights £20.00 - £30.00
350	3 ceiling lights in the shape of colanders £20.00 -	384	A Samsung television £20.00 - £30.00
	£30.00	385	An enlarger and other photographic equipment £10.00 - £20.00
351	An old game pie dish £10.00 - £15.00	386	A quantity of Royal Cauldon blue and white dragon
352	A Victorian oil lamp with glass font and brass base £30.00 - £40.00		tea ware
353	A glass topped table £10.00 - £20.00	387	3 boxes of LP records £20.00 - £30.00
354	11 wood planes including Stanley, Milbro, Hilka £60.00 - £80.00	388	A Meerkat Maiya with box and papers £15.00 - £20.00
355	A New Home sewing machine £10.00 - £20.00	389	A side table with drawer £10.00 - £15.00
356	A quantity of tea cup and saucer ceiling lights, 1	390	A large conch shell £10.00 - £20.00
	a/f £10.00 - £20.00	391	6 limited edition Meerkat books £10.00 - £20.00
357	A Dukan over head projector, Trinicon video camera and a Canon movie camera £10.00 -	392	A quantity of Denby tea and dinner ware £10.00 - £20.00
358	£20.00 An oak ladder back chair £10.00 - £20.00	393	A box of soft toys and a box of pictures £10.00 - £20.00
359	A basket of rug making wool etc £10.00 - £15.00	394	A Phillips television £20.00 - £30.00
360	2 modern white ceramic ceiling lights £10.00 -	395	A large quantity of cutlery £10.00 - £20.00
	£20.00	396	A box of glass ware £10.00 - £15.00
361	A quantity of Bohemian table ware £10.00 - £20.00	397	A folding camping chair £10.00 - £20.00
362	3 boxes of shoot magazine £10.00 - £20.00	398	A quantity of Poole pottery table ware £20.00 -
363	A Fidelity record player £10.00 - £20.00	000	£30.00
364	A quantity of 1960's 45 rpm records £10.00 - £20.00	399 400	2 albums of first day covers £10.00 - £20.00 A vintage arm chair £10.00 - £20.00
365	A 3 fold brass framed fire guard £10.00 - £20.00		•
	A circular white table £10.00 - £20.00	401	An Olivette portable typewriter £10.00 - £20.00 A quantity of door handles including brass £10.00 -
366		402	£20.00
367 368	A folding dining table £10.00 - £20.00 A chandelier £20.00 - £30.00	403	A mixed lot of photographic equipment £10.00 -
369	A circular pine table £10.00 - £20.00		£20.00
370	A French style campaign chair frame in satinwood	404	A framed brass plaque £20.00 - £30.00
370	and walnut veneer with carved petal £20.00 -	405	A Singer sewing machine £10.00 - £20.00
371	£30.00 A ladies chair £20.00 - £30.00	406	A large Celous television with remote control, in working order £30.00 - £40.00
372	A walnut wine table £10.00 - £20.00	407	A quantity of Winston Churchill pottery related
373	A folding beach chair £10.00 - £20.00		items including Shorter, Sylvac etc £10.00 - £20.00
374	A boxed Hyundai Hy10051 1000w portable generator with jacket, (only used twice, in working	408	A quantity of jackets including leather, suede and faux leather £10.00 - £20.00
	order) £100.00 - £120.00	409	A quantity of tools £10.00 - £20.00
375	A Leisurewize twin tub washing machine, (nearly	410	A tripod table
	new) £40.00 - £60.00	411	An aeroplane tea pot £10.00 - £20.00
376	A steam wall paper stripper £10.00 - £20.00	412	A quantity of electrical fittings etc £10.00 - £20.00
377	A wooden box, (requires re-hinging) £10.00 - £20.00	413	An over head projector £20.00 - £30.00
378	A Land Rover cast iron weather vane, a/f £20.00 -	414	A quantity of vintage oil cans and oil lamps £20.00 - £30.00
	£30.00	415	A Mason's south seas bowl and hors d'ouvres

	dish, 5 Wedgwood David Shepherd plates with certificates and a Queen Anne tea set £10.00 - £20.00	452	A 4 piece tea set of tray, (coffee pot lid a/f) £10.00 - £20.00
416	A Lloyd Loom linen bin £10.00 - £20.00	453	2 book cases £10.00 - £20.00
417	A Panasonic television £20.00 - £30.00	454	3 shelves of camera's £20.00 - £30.00
418	A collection of thimbles with racks £10.00 - £20.00	455	A witch weather vane £10.00 - £20.00
419	A box of tools, discs, meters etc £10.00 - £20.00	456	An oak gate leg table £20.00 - £30.00
420	A leather jerkin and a suede jerkin £10.00 - £20.00	457	A bedside cabinet £10.00 - £20.00
421	A doll's house £20.00 - £30.00	458	A bedside cabinet £10.00 - £20.00
422	An amplifier and speakers £10.00 - £20.00	459	A mahogany drop leaf table £20.00 - £30.00
423	A coal scuttle and fire irons £10.00 - £20.00	460	A small arm chair £10.00 - £20.00
424	A quantity of scales £10.00 - £20.00	461	A box of pictures £8.00 - £10.00
425	A Toshiba television £20.00 - £30.00	462	An oak barley twist gate leg table £20.00 - £30.00
426		463	A large quantity of blue and white dinner ware, some a/f £20.00 - £30.00
420	A mixed lot of animal figures £10.00 - £20.00 A Royal Doulton dinner set £20.00 - £30.00	464	2 pairs of vases and other china £10.00 - £20.00
	•		•
428	A box of calenders £10.00 - £20.00 A tin trunk £10.00 - £20.00	465	A solid brass spitfire aeroplane, a Winston Churchill figure, a Lledo RAF model set and horse
429			brasses £15.00 - £25.00
430	A pair of reproduction Staffordshire flat back figures £10.00 - £20.00	466	2 vintage dolls £10.00 - £20.00
431	A pair of pine rotating cabinets £20.00 - £30.00	467	A wall unit £10.00 - £20.00
432	A heritage sculptures bronze effect Winston	468	2 brass plaques £10.00 - £20.00
.02	Churchill bust pen stand, a trinket box and a Keith	469	A brocade head board £10.00 - £20.00
	Lee Churchill statue £30.00 - £40.00	470	A quantity of office files etc £10.00 - £20.00
433	A collection of 20th century oriental china including 1940's Samurai Geisha pot, plates, urns, South Korean bowl etc £20.00 - £30.00	471	A blacksmith weather vane £10.00 - £20.00
		472	A bevelled mirror £10.00 - £20.00
434	A good modern dining table and 4 chairs £40.00 - £60.00	473	A large quantity of RAF and Winston Churchill collectors plates and mugs including Wedgwood,
435	An Icepoint fridge £20.00 - £30.00	474	Royal Doulton, Coalport etc £20.00 - £40.00 A large box of sports equipment £10.00 - £20.00
436	A bamboo table £8.00 - £10.00		
437	A pair of 3 drawer pine bedsides £20.00 - £30.00	475 476	An Alto couring machine \$2.00 - £20.00
438	A wine table £10.00 - £20.00	476	An Alto sewing machine £8.00 - £10.00
439	A 19th century Ironstone bowl, chips under rim	477	An Alto sewing machine £8.00 - £10.00
	£10.00 - £20.00	478	A lorge oil on board signed B Denterd \$20.00
440	2 trophies and a sugar bowl £10.00 - £20.00	479	A large oil on board signed R Dantard £20.00 - £30.00
441	A 5 drawer chest and a matching pair of bedsides £20.00 - £30.00	480	2 carved wood items £8.00 - £10.00
442	A companion set, a fireguard and a coal scuttle £10.00 - £20.00	481	A large collection of matchbox labels, stamps etc £10.00 - £20.00
443	A concertina sewing box £10.00 - £20.00	482	An oriental tilt top table with carved top £45.00 -
444	A mixed lot of metalware including silver plate, brass etc £10.00 - £20.00	483	£55.00 2 pairs of brass candlesticks £10.00 - £20.00
445	A box of glass lamp chimneys £20.00 - £30.00	484	A wall mounted display cabinet £10.00 - £20.00
446	A mixed lot of pill boxes etc £10.00 - £20.00	485	3 lidded ginger jars £10.00 - £20.00
447	A cased Ilford Sportsman's 35mm camera £10.00 -	486	A mixed lot of cranberry glass etc £10.00 - £20.00
	£20.00	487	A Victorian china tea set £10.00 - £20.00
448	A bamboo what not £8.00 - £10.00	488	A large quantity of jigsaw puzzles £10.00 - £20.00
449	An old wooden trunk £10.00 - £20.00	489	A Singer sewing machine £10.00 - £20.00
450	2 bookcases £10.00 - £20.00	490	Several photograph enlargers £20.00 - £30.00
451	A mixed lot of old books £10.00 - £20.00	491	A large oil on board painting £10.00 - £20.00
RidMastar	Office 7		

492	An AIWA stereo and speakers £10.00 - £20.00	531	A cheval mirror £10.00 - £20.00
493	A modern sideboard £20.00 - £30.00	532	A vintage suitcase £10.00 - £20.00
494	A modern wall unit £20.00 - £30.00	533	A TV stand £10.00 - £20.00
495	A pair of table lamps £10.00 - £20.00	534	A standard lamp £10.00 - £20.00
496	A glass lustre £10.00 - £20.00	535	A red leather sofa £10.00 - £20.00
497 498	A mixed lot of drinking glasses £10.00 - £20.00 A shelf of miscellaneous items £10.00 - £20.00	536	A good quality Chesterfield style sofa and stool £20.00 - £30.00
499	2 oriental paintings of birds and flora £10.00 -	537	A leather sofa, chair and stool £20.00 - £30.00
	£20.00	538	An ottoman containing vintage hats £10.00 - £20.00
500	2 anniversary clocks £10.00 - £20.00	539	3 dining chairs £10.00 - £20.00
501	An umbrella stand, a/f £10.00 - £20.00	540	A House of Frazer Chesterfield style sofa £40.00 -
502	A pine framed mirror £10.00 - £20.00	340	£60.00
503	A cane linen bin £10.00 - £20.00	541	A House of Frazer Chesterfield style sofa £40.00 -
504	A modern bookcase £10.00 - £20.00		£60.00
505	A mixed lot of CD's, DVD's and computer games £10.00 - £20.00	542	A teak dining table and 4 chairs £20.00 - £40.00
506	A collection of DVD covers in cases £10.00 -	543	A sewing machine cabinet £10.00 - £20.00
	£20.00	544	A singer treadle sewing machine £10.00 - £20.00
507	2 shelves of books including antique reference	545	A marble topped wash stand £20.00 - £30.00
	£10.00 - £20.00	546	A china cabinet £10.00 - £20.00
508	An oak barometer £10.00 - £20.00	547	A Singer treadle sewing machine £20.00 - £30.00
509	A Silent Night double divan bed with head board £20.00 - £30.00	548 549	A Singer treadle sewing machine £20.00 - £30.00 A Smoking cabinet with book £10.00 - £20.00
510	A pair of framed and glazed prints £10.00 - £20.00	550	A walnut bedside cabinet £15.00 - £20.00
511	A double bed with headboard £10.00 - £20.00	551	A wheel chair £10.00 - £20.00
512	A TV stand £10.00 - £20.00	552	A teak TV stand £10.00 - £20.00
513	A Karcher floor cabinet £10.00 - £20.00	553	An Electone organ with stool £20.00 - £30.00
514	2 bedside chests	554	_
515	A small pine table £10.00 - £20.00		A Carlabra B 1585 200 west appellar \$10.00
516	A Creda electric cooker £20.00 - £30.00	555	A Carlsbro B.158E 200 watt speaker £10.00 - £20.00
517	A Victorian walnut cased wall clock with turned	556	A Sony music centre £10.00 - £20.00
011	columns £30.00 - £40.00	557	A mahogany Pembroke table £20.00 - £30.00
518	A green brocade sofa £20.00 - £30.00	558	A mixed lot of tools £10.00 - £20.00
519	A Lancaster print £10.00 - £20.00	559	A quantity of old golf clubs £10.00 - £20.00
520	A ceramic table lamps £10.00 - £20.00	560	
521	A Shah teak side cabinet £10.00 - £20.00	360	A 6ft wide teak framed bedstead with mattress £40.00 - £60.00
522	A 3 drawer chest £10.00 - £20.00	561	A Put-u-up bed £10.00 - £20.00
523	11 framed and glazed tapestry and needlework	562	A vintage metal stair gate £10.00 - £20.00
524	pictures £10.00 - £20.00 A Kampa camping field kitchen in cover bag	563	A bird bath and a quantity of garden planters, some with plants £20.00 - £30.00
02.	£20.00 - £30.00	564	A single mattress with headboard £20.00 - £30.00
525	A cottage sofa £10.00 - £20.00	565	A double divan bed £20.00 - £30.00
526	A ladies Akito (size 12) motorcycle jacket, Frank Thomas leather trousers, shoes, gloves, helmet and visor £20.00 - £30.00	566	A quantity of garden planters with plants £20.00 - £30.00
5 27		567	A double mattress and a 5ft brass effect
527	2 bookcases £10.00 - £20.00		headboard £10.00 - £20.00
528	A dram loof table \$10.00 - £20.00	568	A pair of single beds with upholstered head boards
529	A drop leaf table £10.00 - £20.00	F00	£40.00 - £60.00
530	A drop side tea trolley £10.00 - £20.00	569	A single pine bed with mattress £20.00 - £30.00

- 570 A bedroom chair £8.00 £10.00
- 571 A low back chair £8.00 £10.00
- 572 A pine coffee table £10.00 £20.00
- 573 A pair of bamboo bedsides £10.00 £20.00
- 574 A blanket box £20.00 £30.00
- 575 A pine book case £10.00 £20.00
- 576 A glazed book case £10.00 £20.00
- 577 2 cabin trunks £20.00 £30.00
- 578 A Pembroke table £20.00 £30.00
- 579 A large book case £20.00 £30.00
- 580 2 teak folding chairs, a garden table and a parasol £20.00 £30.00
- 581 A small gent's wardrobe £10.00 £20.00
- 582 A large patterned rug £30.00 £40.00
- 583 An arm chair £10.00 £20.00
- 584 A single divan bed £10.00 £20.00
- 585 A nest of 3 oak tables £20.00 £30.00
- 586 An oak coffee table £15.00 £20.00
- 587 A large coffee table £20.00 £30.00
- 588 A double divan bed and mattress £20.00 £40.00
- 589 A china cabinet £10.00 £20.00
- 590 A single bed with mattress £20.00 £30.00
- 591 10 darkwood stained interior doors £20.00 £30.00
- 592 A large ROASTS metal sign £20.00 £40.00
- 593 A good quality oak Priory style dresser £40.00 £60.00
- 594 A 4 drawer chest £20.00 £30.00
- 595 A wood framed sofa and chair £20.00 £30.00
- 596 A Myers Continental Comfort mattress and brass headstead £10.00 £20.00